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A S HD
M Y L BRMa2
S HEIAHAME 29 (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
207 S0 & 18,500 18,500 0
01 | 18,500 18,500 0
OMBEDIM(HPIAH & |15 H) 2E 49
18,500,000 18,500
EFAR2AY| 370,680 350, 160 20,520
204 = 2 =8 A H| 370,680 350, 160 20,520
03 EHYFRAH| 370,680 350, 160 20,520
OSFEYER = &=t 370,680
-2l & S| 50,000 x525% x 12& 315,000
-ZANEEE2S 80,000 »7H x12& 6,720
-NRegdsR 100,000& 28 x12& 33,600
A2 150,000 »6H 12 10,800
-SRI 60,000& 3 x12& 2,160
-HESSEHEERIA 100, 000& 2 x12& 2,400
SIHEE A =25 5,000 0 5,000
201 et d| 5,000 0 5,000
03 HAI2 HHI 5,000 0 5,000
OSAHESE A I&2s A3S 5,000,000& 5,000
2R MAS aX 22| 63,600 61,200 2,400
22 WAt 22| 55,500 49,100 6,400
201 gEt24y| 54,000 47,000 7,000
01 AP 22| H| 19,000 19,000 0
OZSMM ZHE L SY222 S
10,000,000& 10,000
OHNSAZA X E 650,000 x12& 7,800
OZ2R Motal o3 3| o & A 4= &
100,000 x3H x4 3| 1,200
02 B232%H4| 35,000 28,000 7,000
OFCEHIUHEH /M MDA Al S2D]
s SA&a2l] 30,000,000& 30,000
O=22&c2la WA NMSAZA 2E
5,000,000& 5,000
202 o4l 1,500 2,100 A 600
01 2Ll 1,500 2,100 A 600
SSMa SEXAF 04| 1,500,000 1,500
=322 8,100 12,100 A 4,000
201 et d| 8,100 12,100 A4 000
01 AR 22l ] 8,100 12,100 A 4,000
ORFIDEZIHY| 2oz ) SAeldl
5,100,000 5,100
OEE2EE Y =2 1,000, 0008 1,000




SA-EB .Y (BH) - ABAY - B2 O At 0t San H D2
| | OSZ2e MNEH] AL2E 2,000,000¢ 2,000
ZEUY AL 84,800 84,800 0
zZEny el 84,800 84,800 0
201 UBre A H| 80,000 80,000 0
01 AL 22/ H] 12,000 12,000 0
OSEZ(XA)S W2 2222
6,000,0002! 6,000
ON&GE2 82 ¢ X8 S 6,000,000 6,000
02 B229l 68,000 68,000 0
OZE USRI HI(100H) 40,000,0002! 40,000
OZEY B2 (1004) 7,000,0002! 7,000
OZE X KXHI(10TH) 15,000,0002! 15,000
OX= RHAI(100H) 4,000,0002! 4,000
OXg Z2A & FLAASLZ(100)
1,000,0002! 1,000
OsF NS (X7 1,000,0002! 1,000
202 014 4,800 4,800 0
01 2LH0i | 4,800 4,800 0
OXgedY AGXY AR 28 4,800,0002 4,800
HAANE 2X 1,122,567 1,118,080 4,487
HAIR X 22 859,567 876,080 A16,513
101 2124 H| 134,157 0 134,157
M4 IIAHZERSRE 2 134,157 0 134,157
OAE AL HALZ 2| (48) 121,675
= 1,822,4802 42 x 122 87,480
—Msrol 3 209, 0002 *48 x 122 10,032
—HEIRAY 14,5809 #3AI 2H 5= x4 # 12 10,498
~EU2 AT 14,5809 <BA| 2Hx2YU +4% # 12 11,198
RS EINSY 77,7609 x4 x62 1,867
-l =l 150,000 x4 600
OSCHEYME HAZ2(1H) 12,482
S22 (L4AI2E/52) 915,600 x 1Y * 128 10,988
—Msrol 3 105,0009! * 1% 122 1,260
RS ENY 38,8802 * 1% x6 2 234
201 YUBH2 A H| 692,780 859,680 A 166,900
01 AL 22/ H] 79,680 79,680 0
OFIIAIA or® & A 820,000 x 12 9,840
OABAIA OFF & 2 550,000 x 128 6,600
OSZIAE CHEE A 420,0002 * 122 5,040
Ol A=Y 350,000 x 122 4,200




M 3
I 3 € SEMa2C

el EAMAE | (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Ooglg Fdl=(Hldl,E=I1) 1,250,000& 128 15,000
OFa & AMES ¢ 20,000,000& 20,000
ootuer & EA2 WAl 2,000,000& 2,000
OAMEERA22 2234 6,000,000 6,000
OJIA,INZ,EI, B8 s =&t
10,000, 000& 10,000
O25 & A 22188 74l 1,000, 000& 1,000
02 =224l 613,100 780,000 A 166,900
OHIIR3 210,000,000 210,000
OEAIIAERS 33,000, 000& 33,000
Odot=ER= 30,000,000& 30,000
O2s 2 AL 22l 4,000,000& 4,000
OAsUHE FAE9HI 20,000,000& =23l 40,000
OASAN U SUE A
13,200,000& *13l 13,200
O824 W) HB HASSY)
5,000,000& 13 5,000
OMd== &g 3,400,000& »23| 6,800
O83=xE =HE 1,700,000& *33| 5,100
OZx= & Mol=+ SHMAE I
220,000, 000& 220,000
OANEEHISNU(AS,HI, 1A, L, Hitgr
M S ANERXH) 22,000,000& 22,000
OZZ2ULH9 &g MY gHA=
500,000 43| «12& 24,000
202 odl 980 1,400 AN 420
01 = LH o4 1l 980 1,400 A 420
OFEAMAIE 22/ =3 980,000 980
405 THobH S| 31,650 15,000 16,650
01 XAt = ZFH St 31,650 15,000 16,650
OFEAM &L 2MA SEFL(FE2E YY)
15,000, 000& 15,000
OWed] 2 (70) 16,650,000 16,650
HAANEE 263,000 242,000 21,000
401 A& HIZ 201 I 263,000 242,000 21,000
01 A& HI 263,000 242,000 21,000
OFAAIE S X2l (PooLatel) 110,000
TEANE S 7 14,000, 000& 14,000
-HE 01 § AMEZEBIKSXBI(Z2119X <
JSESEYMEY EE ) 96,000,000 96,000
OFEAMN FIHHHA(HMIBAILES)
12,000, 000& *23] 24,000
O3 a L SA 84,000,000& 84,000
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L= B

el

=i ()
A X SFMHE

FAAE FX

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
ONEMN @ Scasgan Z+2A
30,000,000& 30,000
OAEA 22 FelZA 15,000, 000& 15,000
HE2AZH (3 AH W) 38,135,474 36,101,488 2,033,986
2 45,517
Al 38,089,957
CIHAHYI(Z AL _ANBSZ) 37,977,234 35,923,448 2,053,786
2 45,517
Al 37,931,717
HNEFOIALI (S HU_AIBSZ) 36,579,161 34,526,070 2,053,091
101 @144 Hl 36,579,161 34,526,070 2,053,091
01 2 34,352,617 32,472,969 1,879,648
O=2(646Y) 25,399,488
“ANE (3R 7,967 ,5803 x1H 128 95,611
“EAF(ASH) 7,315,580 x 1« 12& 87,787
43 (HS8H) 7,542,1803 *5H x 122 452,531
-5z (HES7) 6,219,780& 38K x12& 2,836,220
632 (265 8) 4,149,800& x180H 123 8,963,568
-72 (153 8) 3,155,500& x182H x12& 6,891,612
-8=(8& ) 2,298,700& 160K x 122 4,413,504
9= (35 8) 1,703, 100& 76K x12& 1,553,228
~ARAH(198 ) 3,640,000& x1H x12& 43,680
-NEAH(5E8) 2,039,800 x1H~12& 24,478
-MEdEE U2 (145 8)
3,105,700& x1H +12& 37,269
o&Fz2=+¢ 21,927,337,200& *1/12%45%*23| 1,644,551
Ons=¢ 468,000
—bi < Xt 40,000 *400H « 128 192,000
-2 2E 20,000& *400H 123 96,000
=M A 60,000& 2008 «12& 144,000
ol PIE] 100,000& 30 128 36,000
Oz 1,000,000& *12H x12& 144,000
O&F2=got=a 438,000
-204 01 &f 100,000 x195H x12& 234,000
-15E 01 & 204 0] et 80,000& 70 x128 67,200
-10& 01 & 154 0| &t 60,0003 x90H «12& 64,800
-5E@ 0l & 100 2t 50,000& *120Y x12& 72,000
O&EIZ=EFItotet= 58,200
-25E 01 & 30,0003 x145%H x12& 52,200
-20E 0| &F 254 0| 8t 10,000& x50 128 6,000
O =% 235,244
-43U =R (53302 2)
4,923,900 4 . 1%+2H x12& 4,846




S 8D
FM: HH2LZH (S H D)
el lE2HHI (AT _ANSE)
SA - ZE-B(EN) - NRAY - B S il &t o il
53U (62285 =)
4,228,300 4 . 1%+75H 123 156,025
f=lR(72182 )
3,359,200& *4 . 1%+45H 128 74,373
OofIgz=e+¢ 12,960
23 50,0003 x12&8 128 7,200
-435 40,0003 x 128 128 5,760
OJlsd=E+Y 64,200
-5= 50,0003 x10¥ «12& 6,000
-6-72 30,000& x120H »12& 43,200
-8-92 20,0003 x60H «12& 14,400
=N 50,0003 x 1 «128 600
OJI=s3d32x4 IJtet=a 45,360
-Jl= At 50,0003 x3Y 128 1,800
-JIsE,IIA 30,0003 90 «12& 32,400
—&EH DAL 20,000 x40 x 128 9,600
-2d /U3 (6-72) 10,0008 *5H <124 600
-2 /HHIOtAZ(8-92) 20,0008 *4H 124 960
Oodzdea4 13,200
—== 2| Ab 250,000 x2H 128 6,000
-2tS AH QI Z I A 50,0003 x12H 128 7,200
Oz 960
—SHOIl A A 80,000 x1H » 128 960
OS+=a2=E 226,200
M EXNSZRE 70,000 =100 x12& 84,000
“AEI S XY R JtHils
30,000 +x70H «12& 25,200
-QIRARRH 50,0003 35 128 21,000
-HEX+Z(3H014) 250,000 +3H « 122 9,000
-MAE2+2(62016H) 20,0002 *10¥ «122 2,400
S22 70,0003 90 x12& 75,600
Q3 ANRE 9,000
=) 80,000& x2H 123 1,920
6= 60,000 x4 » 122 2,880
7= Olot 50,000& x7H 128 4,200
Oxl=z2=2=¢ 1,668,758
5= 14,0723 x2F «30A| 2t 128 10,132
-6= 12,0023 x180H *15A1 2+« 122 388,865
-2 10,8413 x182H +25A| 2t 128 591,919
-8= 9,733 * 160 »25A| 2« 12& 467,184
-9 8,798 x76H +25A| 2tx 128 200,595
- A 11,5693 x 1H «25A| 2t 128 3,471




M 3

B A SHHY (3D
CHel: ol oy (3 HY_ASD) S
_ - ) e
SA-EY. B (BH) - NBAY - BES 0l & B &t o slase
o

10,6073 «1H #25A| 2t+ 128

-dEFEE U 11,3623 1 #25A1 2t+128

OREEsRA=E 50,0002 x13H 12
OFd=AH| 140,000 =646 « 128
OYESOHl  21,927,337,200& *1/12x60%*23]
Ot &I

25,303,874,640% *1/12+86%+*1/30% 10
=g 8,000& 450 12

O
=5
0z
ru

(@)
no
S
m
Jd
T
N

- 2340l 4 30 0I2H (285 8)
3,803,900 x5H x12&

- 30E 01 & (318 &) 4,159,600& «2H » 122

324y 328,064, 4002 1/ 12+50%+23]
Obsay
PR 40,0002 +6% * 128
RIS 20,0002+ 10 * 122
MR 60,0002 x22 128
~HI AN
201 01 4 100, 0008 +7% * 12
~H24G RN
251 01 4 30,000 +6% 128
201014 2511018 10,0008+ 1128
-HEAP LY
HRABZ LY (PE) 40,0008 1% +122
HABHLY(XT) 30,0008 2% +128

HEE F(62)
11,8053 x2H #2541 2k« 128
HEPE FA(T2)
10,9803 x5 #25A| 2t 12&
-3AZ Al 140,000& 7 122
=

sl
Jtal 328,064,400& «1/12x60%*23]
sl

|
R o0
Ao
>

328,064 ,400% x1/12%86%+1/30% 10

O
0o
S
>

|
Ol
]
~
I
02

5,666,040 x2F x12&
4,093,470 «3E »12&
3,416,120 x2H «12&
3,223,160 «1F ~12&

—_ = — —

1)
3
0e
S
=
™
W o

3,183
3,409
7,800

1,085,280
2,192,734

604,482
43,200

2,226,544

449,962
328,065

228,234
99,831
27,339

6,720
2,880
2,400
1,440
8,400
8,400
2,280
2,160
120
1,200
480
720
23,553

7,083

16,470
11,760
32,807

7,838

1,731,462
1,397,669

135,985
147,365
81,987
38,678




2N
X ZH -
L= B

el

5 - 4
SA - BB B () - MM - BES Ol &t o e HmEET
AP SR DRI (LES)
3,688,420 x1H+12& 44,262
AP SR DIHI(CHS)
3,589,040 x5H x12& 215,343
AP SR DRI (2t =)
3,007,700 x7H«12& 252,647
AP ERJA DI HI(OH )
1,823,490 x22H 123 481,402
JfEag 32,400
bH < Xt 40,0003 x25F 123 12,000
R LIE 20,0003 30 x12& 7,200
-2 DE 60,0003 x10H 128 7,200
- AUTH XA 100,000& x5H 123 6,000
—olzgesy 31,488
- O A 1,312,000 x2H x12& 31,488
-S4Eesy 47,696
< Al 2HS ER R
2,365,840 x84%*5%*40 Al 2t /35 Al 2+ 35 * 47,696
128
—EU2RE 121,922
- BT (55)
14,0723 «2H «20Al 2t 128 6,755
- LBHADIHI(72)
10,8413 «3H «25A| 2t 12& 9,757
- A BHADIHI(82)
9,733 «2H «25A1 2t 123 5,840
LerAIIH (92)
8,798 1P «25 Al 2t 123 2,640
AP EHADIHI(LES)
12,002 «1H 154 2t « 128 2,161
CAIZEE ERADHI(CHZ)
10,8413 «5H «25A| 2t «12& 16,262
CAIZEE ERAD A (2t =)
9,733 «7TH+25A1 2t 123 20,440
< AI2EE ERADH (O 2)
8,798 x22H 25 Al 2t 123 58,067
-Z A S A 140,000& 43 128 72,240
- JtE &HH|
1,397,666,280& *1/12x84%*86%*1/30% 102 28,047
OZSESE2HAAN 2z8sTe3
900,000& x3H 128 32,400
OBERAAN FH224Y
50,0003 x3H 128 1,800
OZSESEH2AAN FIIGRESEAHS
45,0003 200 9,000
oHaz2e =4 8,000& 208 128 1,920
SAHAAHI (S HL_AISZ) 1,352,556 1,318,591 33,965




M 3

FM: HH2LZH (S H D)
el lE2HHI (AT _ANSE) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
204 AR HH| 1,352,556 1,318,591 33,965
02 2g 2 Xl 1,352,556 1,318,591 33,965
O&z =t 1,352,556
-ANE 500,000& x 18 «128 6,000
-2AE 310,000 x 1« 12& 3,720
4= 400,000& »4H 128 19,200
-5 250,000& 38K «x12& 114,000
-6 165,000 x180H 123 356,400
= 155,000& x182H x12& 338,520
-8-9=2 145,000 x236H x12& 410,640
-HAZE ZL(62) 165,000& 2H 128 3,960
-HRAGE ZA(T2) 155,000 x5« 12& 9,300
-2 BRI 5= (4= 4Y)
400,000 »2H «12& 9,600
-t DIM 72 (624 E)
165,000& 3 «12& 5,940
2B H 82 (724 E)
155,000& »2H «12& 3,720
-2t DIM 92 (824 E)
145,000& »1H <123 1,740
“AIEL A DM (LS 3=35A124)
218, 7503 x1H «12& 2,625
“AIEL EHA DM (TS 3=35A12H)
144,370 x5H «12& 8,663
“AIEL A DA (2t2 Z=35A12F)
135,620 x6%H «12& 9,765
“AIREL A DA (2t2 Z=20A124)
77,5003 x1H « 128 930
-“AIEL A DI (OtS ==35A124)
126,870 x18H «12& 27,404
-“AIEL A DM (OtS ==33A124)
119,620& »2H <123 2,871
“AEL A DA (OtS ==25A12F)
90,6203 x1H » 128 1,088
“AIEL A DM (0SS 2=20A124)
72,5003 x1H « 128 870
—SYHFII2WA 300,000& x1H«128 3,600
-6= 0l otk A 100,000& x4H 123 4,800
-uw X &b 600,000 x1H «128 7,200
IISZHEEMBAH ZH X3 (12d]) 31,782 37,743 25,961
= 31,782
101 @124l 31,782 37,743 25,961
= 31,782
01 8= 31,782 37,743 25,961
OJIEZAHEE &R Al 31,782,000 31,782




A S A
FM: HH2LZH (S H D)
chel: A2 H| (S HU_ANBSZ) (&)
= - - SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
| = 37,782
O AEAIR iA@Yl XI&A(el2dyl) 13,735 10,190 3,545
= 13,735
101 @14 Hl 13,735 10,190 3,545
= 13,735
01 2= 13,735 10,190 3,545
OAYR Al 13,735,000& 13,735
= 13,735
228 (3HD_ASZE) 122,360 122,960 A 600
Jl2ddl (s H_ABZ) 122,360 122,960 A 600
203 PR =&l 40,700 40,700 0
01 J22F PR =8l 40,700 40,700 0
OJI22g g =2l 40,700,000& 40,700
204 HR=HAH| 81,660 82,260 A 600
01 Mg 81,660 82,260 A 600
OXMUZ L2 LAY 81,660
-ANE 975,000 x 18 128 11,700
“SAE 600,000 x1H 128 7,200
-4= 350,000& x3H x12& 12,600
S2(BEAHALE MELE SF)
150,000 *11H »12& 19,800
S5z (&, H2/d) 100,000& »24H «12& 28,800
AN Z=sUE 80,000& x1H «12& 960
O3 2R (62) 50,0003 x 1 128 600
=224l (3 A Dt) 35,880 55,080 219,200
JlE2dul (s A 35,880 55,080 A 19,200
201 L2l 15,000 15,000 0
01 At 22l 15,000 15,000 0
OFRNM2E AR 2] 15,000, 000& 15,000
202 04l 17,280 36,480 219,200
01 = LH Yl 17,280 36,480 219,200
OJle2ge+8oul(18y) 17,280,000 17,280
203 H R =&l 3,600 3,600 0
04 EAN2IHR2FEHI 3,600 3,600 0
ORN2ZYPLFAHI(2021015t)
300,000& 123 3,600
2= (3 A 3,260,352 3,073,763 186,589
LHEHHXIZ (3 H D) 3,260,352 3,073,763 186,589
AEAL HEDZ2 MEZ 3,260,352 3,073,763 186,589
702 J1S3HES 3,260,352 3,073,763 186,589




A
RS (EAD)

el

X ZH
S =

=i ()

WA HXI = (3 A )

SN P SA(EN) - MBAY - BES

=

i
2

3,000,000, 000&
260,352,000&




